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TN HERE =Y 37, 616, 343
FRELT 2 36, 487, 503
HERABRE T 2 17,590, 405 | FrEs 600 m2
BHX ROA#EEAY
3= 5, 600 m2
JEHR ROEH#EL
brE 707, 000 m2
= IRl (NiE185¢m) ;
R 6, 300 m2
N
R 686, 000 m2
AR A (BEEME200cm)
kD) 692, 000 m2
FEOA - fRFiED 692, 000 m2
TR (PEBARRED 692, 000 m2
L=4. OkmLL T ;
PERARRE T = 18,897, 098 | [rEx 600 m2
BHEX ROA#EEAY
3= 5, 200 m2
JEHR ROEH#EL
brE 745, 000 m2
= IR (XhE185¢m) ;
R 5, 800 m2
AT
FE 745, 000 m2
AR A (BEEME200cm)
kD) 750, 000 m2
FEOA - fRFiED 750, 000 m2
TR (PEBARRED 750, 000 m2
L=4. OkmLA T ;
LEFEAET 2 63, 357
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CEAT = 1 7,467 | AR 100 m2
PARHEEE ;
kD) 100 m2
FEIA - f7EE 100 m2
TR (PEBARRED 100 m2
L=4. OkmLA T ;
RARBRAR T 2 1 55,890 | A AT () 100 m2
AR CH) BRIRE Y
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VU%ax ¢ 1 t
R #BEE
VU%ax ¢ 1 t
AR AR
LT = 1 126, 674
HRHEI T = 1 33,110 |#EH! 100 m3
/Y A7 iy b PR PEEME 5, 000m3ATH ;
BT =X 1 20, 358 | BRI (FLt8) ik 90 m3
4. 0mPL E
Rkt A = 1 63,920 |VEmEER (8] 150) 50 m2
BRI v+ R OWYE + kit
LRI (3% 1350) 50 m2
T i S O I BRI
P v T = 1 9,286 |H&ih 10 m3
BIL O-27)
b 10 m3
0 Cadl- EHIRY £5T) ;
LR L 2 1 23,095
ML 2 1 23,095 | LoD 5 m
£45em FFEA 150-200mn ;
FRIE D T = 1 91, 950
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HEEWHE L 2 63, 600
e L =X 63,600 |PEEAHE 1 &0
18-8-40 (Fi4F)
R T = 143, 991
e+ T 2 18, 744 |RYE Y 1 =
+H
HEL 1 2V
HmEE 1 =K
P v T = 3,453 | F&Hh 1 =
B O-27)
T wb AT 1 2V
+WCESE- EARY £E5T)
TA7 7 M2 T = 120,220 | FJEikm (HE - BEE) 50 m2
BAT9v477 RC-40 1 Y & 150mn ;
g (I - BIF ) 50 m2
FEERLET ATy (20) EH%EIE 50mm SEXIIEES. 0
mif ;
DX R T X 1,574 | FRAAX i 5 m
Rl CFE) R 15em JE1. 5mm HEAKMESHEE M
=
fHmpaxE L = 66, 855
f+HERR & L =X 37,680 |HLIL@®K zb 1 N
HE SR AME 101, 6mm HIESHH AME X 1100mm
(H=850) ;
B 1A T X 29, 175 | #57% (M) B5 1A 3 m
M 1. Im 4BRE - 20 -MESA ) Rt
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ICEER = 37, 815
BESALE T X 37,815 | HEFREEEIRUNEE (Bt iLss) 5 m3
KT,
Wy 1 t
KLF,
sk ME R 2 68, 450
IR EAEEHET = 68,450 | N LiRZ 100 m2
74t
s ALER T = 314, 090
AL T = 314,090 |jLRAfEZE 1 =X
HEE L = 44, 449
REVEITUE L T = 27,866 |2v))-MEEWEUEE L 3 m3
MRS BblE T
SRR G 5 m
TAT 7 MEEERR 15emPL T
T LE RS A 10 m2
TAT7 MR EEERRIE Bem
TR AL T = 16, 583 | E 3 m3
/)= (AT
DO 0.5 m3
TAT 7V
By 3 m3
/)= (AT
By 0.5 m3
TAT 7V
I 2 84, 514
THEHER T = 17,314 | EwbF| 1 =X
(R - 1)
-4 - E A2 s SN 7




TH4 | B0 6 EERER) IR PO R Bl T
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A R 2y 1 67,200 |23iEFE G E 1 ey
BT EE =X 1 37, 616, 343
B RER =X 1 3, 181, 000
Hom e (RFkL) =X 1 3, 181, 000
T =X 1 40, 797, 343
B ER =X 1 15, 149, 000
N i =X 1 55, 946, 343
— R A =X 1 10, 283, 657
Tk =X 1 66, 230, 000
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